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Review Test on Unit 6
Exercise 1. Choose the correct answer.

1 That night up to his room he thought of his unpleasant day.
a) went C) goes

b) going d) having been gone

2 She smiled the joke.

a) remembered Cc) remembering

b) to remember d) will remember

3 so little in the country, | am afraid | cannot answer all your
questions.

a) Seeing c) Will see

b) Having seen d) To see

4 A new road the plant with the railway station will soon be
built.

a) connecting Cc) connected

b) having connected d) connects

5 two days before the conference he had a lot of time to see
Edinburgh.

a) To arrive c) Having arrived

b) Arrived d) Arrive

6 | felt very tired the whole day in the sun.

a) being worked Cc) work

b) having worked d) worked

7 He speaks like a man his opinion of everything.

a) taking C) took

b) takes d) will take

8 that she could trust them she didn’t know what to do.

a) Not having known c) Knowing not

b) Didn’t know d) Not knowing

9 a pair of gloves we moved to the shoe department.

a) Having bought c) Buying

b) Buy d) Bought



10 She left us all she had found out.

a) having told c) told

b) is telling d) will tell

11 from the academy he got a good job.

a) Graduated c) Being graduated

b) Having graduated d) Graduate

12 A boy to the party looked exciting.

a) invite c) will invite

b) invites d) being invited

13 The designer a new view of the building is rather busy.
a) creating C) creates

b) created d) are creating

14 The students a lecture listened with great interest.
a) delivers c) being delivered

b) is delivering d) will deliver

15 the luggage people got on board the plane.
a) Check c) To check

b) Having been checked d) Checked

16 this he threw himself back in the armchair.

a) Having said c) Said

b) Say d) To say

17 what he wanted he took his hat and left.

a) Getting ¢) Having got

b) Got d) Gets

18 By this time to the atmosphere of the big city, he no longer
felt a stranger.

a) having got used C) used

b) use d) will use

19 so far away he still feels part of the society.

a) Was c) To be

b) Being d) Were

20 The boy came out of the water from top to toe.

a) was shaking c) shaking

b) to shake d) having shaken



Exercise 2. Choose the Present or Past Participle given in
brackets.

1 The man (reading/read) a book was rocking in the chair.

2 This man (standing/stood) in the hall is very familiar to me.

3 The book (taking/ taken) in the library was rather interesting.

4 The document (signing/singed) by the officer was on the desk.

5 The girl (looking/looked) at you in the metro yesterday lives next
door from me.

6 The chicken (frying/fried) on the frying pan tasted delicious.

7 The carriage (repairing/repaired) in the marshaling yard was ready
to move farther.

Exercise 3. Paraphrase the sentences using participles instead of
italicised clauses.

Model: As he witnessed the crime, he was expected to give evidence
in court. — Having witnessed the crime, he was expected to give
evidence in court.

1 When I visit a strange city, I’d like to have a guidebook with me.

2 Now that | have heard your side of the question, | am more inclined
to agree with you.

3 Motorists who intend to take their cars with them to the Continent
are advised to make early reservations.

4 As he had been warned that the bad weather lay ahead, the ship’s
captain changed the course.

5 When the shop assistant discovered that he had a talent for music, he
gave up his job to become a professional singer.




Exercise 4. Join the sentences, using participles, and making any
necessary changes in the word order.

Model: They found a treasure. They began quarrelling about how to
divide it. — Having found a treasure they began quarrelling about how
to divide it.

1 She entered the room suddenly. She found them smoking.

2 He got off the bus. He helped his grandmother.

3 He fed the dog. He sat down to his own dinner.

4 She didn’t want to hear the story again. She heard it all before.

5 He was exhausted by his work. He threw himself on the bed.

Exercise 5. Underline the correct word in brackets.
1 Joe is very (interested/interesting) in computers.

2 Molly thinks that stamp collecting is (bored/boring).

3 My first trip in a plane was really (excited/exciting).

4 Harry is (fascinated/fascinating) by helicopters.

5 Our visit to the museum was very (interested/interesting).

6 When the boys saw the sea, they were (excited/exciting).

7 I’ve got nothing to do. I’'m (bored/boring).

8 Whales and dolphins are (fascinated/fascinating) animals.

Exercise 6. Express the same in English using Participles.
1 J{iBunHKa, 1110 epeKyaae BipIl, MOs cecTpa.




2 bpatu i o ByJIUII, dKBaBO AUCKYTYIOUH.

3 IIpubpaBiy KiMHATy, MaMa rmovajia poOUTH 1HIII CIIPaBH.

4 daxiBlii, siKi OyyI0Th NOTSITH HA I[bOMY 3aBO/Jl1, OTPUMYIOTh BUCOKY
3ap00ITHY IUIATHIO.

5 Kuuru, B34T1 y 0105110Te111, MOBUHHI OyTH MTOBEPHYTI BYACHO.

Exercise 7. Complete the sentences using expressions in the box.

Having been translated, though wounded, when written,
frightened, well-known, being built

1 Heis scientist all over the world.

2 , the article was handed to the editor.

3 into many languages the book became known
everywhere.

4 The plant in our town will produce locomotives.
5 by the dog, the child began to cry.

6 , Tom didn’t leave the battlefield.

Exercise 8. Replace the clauses with the Absolute Participle
Construction.

Model: The weather was fine. We spent the day out-of —doors. — The
weather being fine, we spent the day out-of —doors.
1 The hurricane ruined our house. | had to buy a new one.

2 A few people were buying his goods. He could hardly earn a living.

3 The film was translated into Ukrainian. It could be seen by
everybody.

4 1t was Sunday. They could have some rest.

5 The fuel was exhausted. The engine stopped.




Exercise 9. Fill in: when, where or why.

1 This isthe town I grew up.

2 I’'ll never forget the day I first met Joan.

3 There are several reasons I can’t go to the party.

4 The Star Bar, | worked for a while, has closed down.
5 Do you know the reason she was crying?

Exercise 10 Complete the sentences with two to five words,
including the word in bold.
1 1975 was the year when | got married.

which 1975 | got married.

2 That’s the hospital | had my operation at.

where That is the hospital my operation.

3 Adam is the man, his house was burgled.

whose Adam is burgled.

4 1 met a man. He owns a successful business.

who | met a man successful business.
5 The village is very nice. It’s close to the forest.

which  The village the forest is very nice.

Exercise 11. Choose the correct answer.

1 The clouds were in the sky.

a) walking C) arriving

b) floating d) running

2 At last they the bank of the river.
a) reached C) came

b) apply d) departured
3 Her first book her last book.

a) bought c) recycled
b) is similar to d)pulled

4 Solar make sunlight into electricity.
a) turbines c) cells

b) tides d) blades



5 The Earth has natural energy and this energy is

a) renewable c) simple

b) a barrier d) arranged

6 One of the biggest of energy is railway.
a) floating C) transportation
b) consumers d) recycling

7 Computers can lots of information.

a) external C) enter

b) cargo d) store

8 The energy stored in the batteries will reduce fuel
a) source C) consumption
b) pressure d)coscequence

9 If two chemicals are put together and heated, they can be
into a completely different substance.

a) converted c) sounded

b) founded d) stored

10 Railway can transfer without any delays.
a) movement C) results

b) cargo d) experiment

Exercise 12. Answer the questions to the text ‘Power Supply
System’.
1 What are the main sources to obtain power required?

2 What are the main types of locomotives mentioned in the text?

3 What advantages did electric and diesel locomotives offer before the
middle of the 20™ century?

4 What are electric locomotives supplied with?

5 How many groups may diesel locomotives be divided into?

6 When were diesel electric locomotives introduced first?




7 What kind of locomotives uses the third rail?

8 Why is there a growing interest in alternative fuels for locomotives?

9 What will the first hybrid diesel-electric/battery locomotive feature?

10 What are Hydrogen-fuelled cells being used for?

Review Test on Unit 7
Exercise 1. Make English sentences using the Gerund.

1 Does he prefer (KaraTucs Ha KOB3aHAX YH
JuKax)?

2 Did you enjoy (muBHTHCH TPY)?

3 He is in the habit of (BcTaBaTu paHo).

4 1s the film worth (muBUTHCE)?

5 He dreams of (moixaru 10 Adpukn).
6 The translation needs (penaryBaru).

7 He stopped (mamutu) a week ago.
8 He went away without (MoIMBUTHUCH Ha
MEHE).

91 avoid (3ycTpivarucs 3 Mi€r0 JFOIUHOIO).

Exercise 2. Join the sentences into one using the Gerund and
appropriate prepositions.

Model: She entered the classroom/ She greeted the teacher. — On
entering the classroom she greeted the teacher.
1 The girl left home/She didn’t lock the door.

2 | learned the words/I pronounced them aloud.

3 They discussed the problem/Then they adopted a resolution.

4 We didn’t miss the train/We took a taxi.
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5 She went to the south/She consulted the doctor before.

6 He sat at the table/He didn’t eat anything.

[ They listened attentively/They didn’t interrupt.

Exercise 3. Choose the suitable form.

1 You can’t stop me what I want.

a) to do c) doing

b) do d) that | do

2 Do you want with you or do you want to go
alone?

a) me to come c) that | come

b) me coming d) that I will come

3 She tried to be serious, but she couldn’t help

a) laugh c) that she laughed

b) to laugh d) laughing

4 T am tired. I’d rather out this evening, if you don’t
mind.

a) not going c) don’t go

b) not to go d) not go

5 ‘Shall I stay here?’ ‘I’d rather with us.’

a) you came C) you come

b) you to come d) you would come

6 Are you looking forward on holiday?

a) to go c) to going

b) going d) that you go

7 A friend of mine phoned me to a party.

a) for invite c) for inviting

b) to invite d) for to invite

8 a hotel, we looked for somewhere to have dinner.
a) We found c¢) Having find

b) After finding d) Finding
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9 The path was icy, so we walked very carefully. We were afraid

a) from falling c) to fall
b) of falling d) to falling
10 I don’t feel like this article today.
a) reading and to translate ¢) reading and translating
b) to read and translating d) having read and translated
11 Let’s get together tonight. I want to talk about a new
business.
a) opening C) to open
b) open d) being opened
12 George has a Newfoundland dog and he is responsible
it twice a day.
a) to having been walked c) to walk
b) for walk d) for walking

Exercise 4. Fill in modal verbs where necessary.

1 Banks take out insurance against robbery and
bankruptcy.

2 He was sure that his company not go back to the
previous level.

3 They like to know what their manager is going to do
next.

4 One not change his money before going abroad,
because there are a lot of 24-hour banks there.

5 We knew that their sales representative arrive next week.
6 like to know more about stock exchanges.

7 This agreement is not profitable. We not sign it.

8 It is necessary that they pay the bills.

Exercise 5. Choose the right variant of modal verbs.

1 You do this work at once.
a) shall C) not need
b) has to d) not must

12



2 When we were children, we

all get up early.

a) would C) need

b) shall d) will

31 lend him money to buy a car.

a) will like c) would to

b) wouldn’t d) will to not

4 you like to see the room?

a) Can c) Must

b) Would d) Shall

5 Will you tell Mr. Green that we’ve smashed his motorcar? I don’t
tell him.

a) needn’t c) dare

b) shall d) will

6 We close this discussion!

a) needn’t to c) would be

b) shall d) not dare

7You see her.

a) shall must ¢) should

b) didn’t shall d) should to

8 You come here.

a) have to must c) don’t to need

b) needn’t d) must to

9 How you say it?

a) should c) will

b) shall d) dare

101 get the main part in that play.

a) not need c) do will

b) not will d) will

11 How you listen to a private conversation?

a) dare ¢) should

b) need d) to dare

12 The plane take off at midnight.

a) would must c) will

b) will must d) must would

13



Exercise 6. Choose the correct answer.

1 If we look ahead, these kinds of changes are going to be

possible.
a) consequently
b) random

2 This Agreement

c) increasingly
d) basically

all prior agreements.

a) protects

c) implements

b) supersedes d) leads
3 This enterprise can bring in a :
a) profit C) payment
b) sale d) division

4 The Internet was originally
information.

by scientists to share

a) believed c) related

b) lost d) established

5 Today our greatest battle is to the natural offerings of our
planet.

a) protect C) construct

b) destroy d) provide

6 He is out of humour without any cause.
a)practical c) visible

b) profitable d) intelligent

7 She is asked for advice.

a) perfectly c) suddenly

b) constantly d) naturally

8 We will try to this plan.

a) implement c) establish

b) buy d) couple

9 Thousands of people have actually been in this project.
a) followed c) based

b) received d) involved

10 How does it the design of buildings?
a) contain c) affect

b) simulate d) communicate

14



11 Our company boasts 250 employees the world.

a) throughout c) profitability

b) interoperable d) multiple

12 Nobody could his running away.
a) present ¢) implement

b) foresee d) update

Exercise 7. Complete the sentences. Choose the right variant.

1 are form of communication designed to inform the train crew of
track conditions ahead and to instruct it how to operate the train.

a) Schedules ¢) Railroad signals

b) Brake application d) Sorting yard operations

2 Digital signals such as door opening, brake application, switch
positions, lamps, etc. .

a) can be created C) can’t be recorded

b) can be recorded d) are unknown signals

3 Railway operation control system (ROC) includes traffic safety and

a)_signalling terminology c) sorting yard operations

b) form of communication d) train control

4 Transmission Based Signalling system (TBS) .

a) is now being developed and ¢) was introduced 100 years ago
installed

b) was created in Ukraine d) will become unnecessary

5 is one of the first countries to adopt TBS.

a) Ukraine c) Greece

b) Mexico d) Britain

6 The European Rail Traffic Management System (ERTMS) has been
designedto .

a) eliminates the need for tracks-  c¢) transform signalling

circuits

b) improve cross-border traffic d) inform the train crew of track
conditions ahead
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7 became the first railway in Europe to implement GSM-R Global
Systems for Mobile Communication for Railways (GSM-R).

a) Britain railways ¢) German Rail

b) French railroads d) Spanish rail

8 Simulation is the electronic technique that .
a) creates virtual rail environment c¢) improves safety and working

conditions
b) ensures the safe and smooth d) allows the introduction of new
flow of rail transport technologies

9 Smart cards can be also used outside the mass transit systems, for
instance, as .

a) mobile phone c) electronic purses

b) travel plan d) virtual reality

Exercise 8 Answer the questions to the text ‘New Technologies on
World Railways’.
1 What operations are now performed by computers?

2 What traditional signals can be recorded?

3 What are railroad signals designed for?

4 What kind of electronic technique creates virtual rail environment?

5 What system helps to coordinate the operation of high-speed
passenger services and slower freight trains on the same tracks?

6 Which country is pioneering the technological transition from older
analogue networks to the new generation of digital systems?

7 What is the main goal for designing a standardized European
Driver’s Desk (EUDD)?

8 Where can smart cards be used?
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9 What are the latest developments in providing passenger
information?

10 What traditional signals can be recorded?

Review Test on Unit 8
Exercise 1. Choose the correct form of the infinitive.

1 He claims the Queen recently.
a) to meet C) to be met
b) to have met d) meet

2 She seems
a) to have been working
b) to work

3 He must
a) to work
b) be working

4 \We went into the town

all the morning.

c) to be worked
d) to be working

in the garden now.

c) to be working
d) have been working

some new clothes.

a) buy
b) to have bought

5 They will book a trip to London
a) to have met
b) to be met

6 He appears
a) to arrive
b) to have arrived

7 He looks tired. He seems

C) to be buying
d) to buy

the investors.

C) to meet
d) to have been met

last night.

c) to be arriving
d) to be arrived

for the test all night.

a) to have been studying
b) to study

8 The best way
a) to explore
b) to have explored

c) study
d) to be studied

China is by land.

c) to have been exploring
d) to be exploring
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9 We are waiting for this novel in England.

a) to publish c) publish

b) to have published d) to be published
10 I hope you again.

a) to meet c) to have been met
b) meet d) to be met

Exercise 2. Choose the correct form given in brackets.

1 | must (to help/help) him with his exams.

2 He had better (to come/come) in time.

3 This task wasn’t easy (to complete/complete).

4 Grandpa didn’t like people (to talk/talk) during the meal.

5 Parents don’t let their children (to stay/stay) late at night.

6 They made us (to eat/eat) that disgusting soup.

7 At once they understand they need (to talk/talk).

8 He would rather not (to go/go) there.

9 The builders should (to begin/begin) the building of the bridge here.

Exercise 3. Combine two sentences as in the model.

Model: He finished writing his book. He is happy about this. — He is
happy to have finished writing his book.
1 1 am going to a concert of my favourite band. | am glad about it.

2 They signed a great contract. They are happy about this.

3 | broke your vase. | am sorry about it.

4 She is going to meet the Queen of England. She is happy about this.

5 He became an outstanding engineer. He is proud of that.

Exercise 4. Express the same in English using Infinitive.
1 TotoBHE — 11€ 3aKIHYUTH CKCIICPUMEHT BYACHO.
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2 MoiM royioBHUM OakaHHSIM OyJ10 3aKIHUUTH €KCTIEPUMEHT.

3 Bin gy>ke mocmiiias, 11100 BCTUTHYTH Ha MOTAT.

4 Bid HanoJisiras, o0 oMY HaJIaJIM MOXJIUBICTb JIOBECTH CBOIO
TOYKY 30DY.

5 HeoOx1HO MITH TyIU CHOTOAHI.

Exercise 5. Fill in the blanks with prepositions where necessary.

1 John insisted shaking hands.

2 Everything depends being on the sport.

3 He didn’t object visiting the dentist.

4 There is no point staying here.

5 What are her reasons to accuse his stealing his money.
6 She didn’t succeed moving the tree off the road.

Exercise 6. Complete the sentences using expressions in the box.

to play with, think, my asking, to be washed, to play chess, having been

1 The child did not like
2 The boy has many toys

3 Do you mind a difficult question?
4 She denied at home that evening.

5 What makes you you are right?
6 was the greatest pleasure.

Exercise 7. Choose the correct answer.
1 Trains in the museums are very

a) hardly C) outdated
b) source d) obtain

2 High-speed trains across the country.
a) sweep c) share

b) desirable d)combat
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3 They who created a bullet train.

a) deploy C) upgrade

b) are in the vanguard d) pivotal

4 The new lines for the Duplex double-decker.
a) governed C) pressure

b) were upgraded d) recycled

5 Planes their comfort and speed so many passengers
prefer them to other transport.

a) visible c) flexible

b) broke d) mastered

6 The of modern trains is safety and comfort.

a) share c) goal

b) desirable d) track

7 The managers had on the contract.

a) an agreement C) impose

b) influence d) virtual

8 FASTECH trains are :

a) share c) gradually

b) liken to d) state-of-the-art

9 He doesn’t have enough experience to run the

a) axis c) distribute

b) government d) ground

10 The earliest high-speed train in Europe was the
Direttissima.

a) bother C) curious

b) deployed d) send

Exercise 8. Answer the following questions to the text ‘High Speed
Rail Network’.
1 What country was the birthplace of the locomotives?

2 How do we call a train that has a stream-lined shape?

3 Where is the most heavily travelled and the largest HSR network in
the world?
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4 How many km/h at top speeds can high-speed trains travel on new
dedicated lines?

5 What technology can be called the rail industry’s rising star?

6 What trains had one of the busiest air corridors in Europe?

7 What concept is based on the way a motorcyclist combats
centrifugal forces by leaning into a bend?

8 What country is now ready to break the rail world speed record?

9 What is ‘Sapsan’ named after?

10 What trains are equipped with ear-like air brakes for emergency
halt protruding from the roof?

Review Test on Unit 9

Exercise 1. Translate the sentences into Ukrainian.
1 Many books are known to be published in our country every year,

2 She felt her hands tremble.

3 Nobody noticed him come in and sit down.

4 His invention is considered to be of great importance.

5 For a long time the atom was thought to be indivisible.

6 We saw them jump with parachutes.

7 He was said to be one of the most promising nuclear physicists.
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Exercise 2. Paraphrase the sentences using Complex Subject.

Model: People suppose that there is a huge amount of natural
resources in the ocean floor. — Ocean floor is supposed to have a huge
amount of natural resources.

1 Somebody has told me that Jack is in town.

Jack

2 It is thought that life on Earth was brought from space.

Life

3 Many people think that Stevenson wrote more poems than we know
of.

Stevenson

4 Everybody believed that somebody had prompted Jack what shares
to buy.

Jack

5 People suppose that crises are a regular display of economics.
Crises

6 It is said that Peter used to be a talented journalist.

Peter

Exercise 3. Join the sentences, using Complex Object and making
any necessary changes.

Model: Mother called me/ | heard it. — | heard my mother call me.
1 Somebody touched me on the hand/I felt it.

2 My friends left the room/The teacher saw it.

3 Their class is good in Math/They think so.

4 His son is good at English/ Everybody believes it.

5 The exam is rather difficult/ She considers it.

6 She has to reach a compromise with her brother/Her parents expect
it.
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Exercise 4. Complex subject/ Complex Object. Choose the right
variant.

1 Diplomacy to be the art of jumping into troubled
waters without making a splash.

a) is thought c) thinks

b) thought d) is thinking

2 Experience to be a comb which nature gives us when
we are bald.

a) saying C) says

b) is said d) said

3 I didn’t want Sarah for the job.

a) to apply c) apply

b) applying d) applied

4 Dorian looked at the picture attentively. It to have
changed very little.

a) appeared C) is appeared

b) is appearing d) appears

5 I smelled something in the Kkitchen.

a) to burn C) burning

b) burn d) burnt

6 Tess looked at me for a moment. She to be trying to
come to a decision.

a) seems c) seemed

b) is seemed d) seem

7 | saw you in the park. Everybody liked it!

a) to dance c) dances

b) dance d) dancing

8 Mr. Smith saw her friends the classroom.

a) leave C) to leave

b) leaving d) to leaves

9 Tom hates traveling by air, so he to go by plane.
a) is unlikely c) was unlikely

b) unlikely d) is unlike
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10 The Moscow Underground

world.
a) Is said
b) said

11 I didn’t hear you

to be the finest in the

c) be said
d) says

mn.

a) come
b) to come

12 My close friend

C) came
d) coming

to have learned ‘Eugene Onegin’ by

heart.
a) knew
b) is known

13 This type of rocket
a) suppose
b) was suppose

14 1 thought him

C) was known
d) knows

to have many advantages.

C) is supposed
d) supposing

a perfect teacher.

a) to be
b) being

15 His invention

C) be
d) been

to be of great importance.

a) is considered
b) has considered

16 The crisis

C) consider
d) considers

to be over but they should prepare

for the worst.
a) announce
b) was announced

17 1 like

a) cleaning
b) clean

18 I could remember

C) is announce
d) is announcing

the kitchen as often as possible.

c) to clean
d) cleaned

him yesterday evening.

a) call
b) to call

c) called
d) calling

Exercise 5. Choose the right variant of modal verbs.

1 The situation was bad but it

a) should be
b) could

WOorse.

c¢) would have been
d) could have been
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2 It was the principle of the tiling. People

to keep their

words.

a) should C) have

b) ought d) are able

3 Where is Nick? He be in his office.
a) ought to C) might

b) should d) would

4 The phone is ringing. It be Jack.

a) must C) need

b) can d) would

5 She didn’t call me yesterday. — Don’t worry! She

a) might have forgotten
b) might have to forget

6 It’s strange that they

¢) must forget
d) should have forgotten

be late.

a) could
b) should

7 1 understand it very well. You
a) mustn’t
b) wouldn’t

8 We’ve got plenty of time. We
a) don’t need
b) shouldn’t

9 Why did Sarah miss meeting? — She

it.
a) should
b) must

10 You look tanned. You

c) would
d) must

explain further.

c) needn’t
d) shouldn’t

to hurry.

c¢) couldn’t
d) mustn’t

have known about

¢) should not
d) might not

in Africa.

a) can't have been
b) must be

11 She is wet. She

a) must have forgotten
b) must forget

12 We haven’t seen Myrtle today. She

a) can go

¢) must have been
d) need have been

her umbrella.

c) should have forgotten
d) mustn't have forgotten

c) must go
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b) might have gone d) should have gone

13 Something to him. He promised to be here two
hours ago.

a) must happen c) had to happen

b) must have happened d) may happen

14 1 called you yesterday, but you didn’t answer. You

a) must be sleeping c) had to be sleeping

b) must have been sleeping d) had to sleep

Exercise 6. Choose the correct answer.

1 The firm goods to all parts of the country.

a) transforms C) conveys

b) satisfies d) covers

2 She managed to obstacles.

a) overcome C) provide

b) improve d) require

3 We offer special prices if you buy in

a) satisfaction C) objective

b) quantity d) awareness

4 Experts that the economy will slow in the coming
months.

a) promote c) forecast

b) choose d) responsible for

5 Your letter has been forwarded to our sales

a) definition C) output

b) productivity d) department

6 In her new position, she will have much more

a) responsibility C) service

b) conveyance d) accuracy

7 There was little chance for within the company.
a) statement C) issue

b) promotion d) capital

8. The factory lost because of the strike by the
workers.
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a) production C) revenue

b) punctuality d) commitment

9 The company is looking to its earnings
potential.

a) throw C) require

b) strike d) enhance

10 The company offers competitive and good benefits.
a) wages c) satisfaction

b) issue d) contribution

11 There has been a increase in prices.

a) labour C) cost

b) steady d) clearly

12 The company increased production to meet

a) labour C) conveyance

b) goods and services d) demand

Exercise 7. Complete the sentences. Choose the right variant.
1 Transport economics is a cross-disciplinary study linking :

a) machinery and hi-tech C) marketing and road

technologies construction

b) high-speed railroads and d) civil engineering and

logistics economics

2 The quantity of goods that buyers wish to buy at certain priceis .

a) profit c) demand

b) supply d) output

3 The person or organization with the demand is .

a) the supplier c) the intermediary

b) the seller d) the customer

4 Everything that is produced is .

a) the profit c) the output

b) the selling d) the marketing

5 requires an investment of resources.

a) Responsibility c) Delegation

b) Operating a business d) Maintaining relations with
customers
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6 The main responsibility of __ is decision-making.
a) assistant C) senior managers
b) customer d) employees

7 To record and present financial information is the responsibility of
the .

a) marketing department ¢) human resources department

b) sales department d) accounting department

8 Managers are mainly concerned with two accounting documents —
____and the profit and loss account.

a) the balance sheet c) promotional programs
b) business letters d) sales contracts

9 _ provides the wider range of services for passengers.

a) Civil engineering c) Management

b) Marketing d) Logistics

Exercise 8. Answer the questions to the text ‘Railway Transport
Economics’.
1 What is transport?

2 What main branches of transport economics do you know?

3 What is demand?

4 What is supply?

5 Why is it important to divide large organizations into departments?

6 What kind of departments do you know?

7 How can you define the process of delegation?

8 What accounting documents do you know?

9 What does the marketing function involve?

10 What are some goals of railway departments regarding better
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passenger services?

Review Test on Unit 10
Exercise 1. Choose the correct answer of the subjunctive mood.

1 It is necessary that

a) he will write that project in
time
b) he write that project in time

2 They demand that

c) he writes that project in time

d) he is writing that project in
time

a) my work should be completed
in May

b) my work was completed in
May

3 The hike cost so much

¢) my work is completed in May

d) my work will be completed in
May

a) as if itis a plane
b) as if it be a plane

4 1t is essential that

c) as if it were a plane
d) as if it will be a plane

a) all the decisions should be
correct
b) all the decisions were correct

5 They have done all their work

c) all the decisions are correct

d) all the decisions will be correct

a) so that they were free on Friday

b) so that they should be free on
Friday

6 She suggested that

c) so that they will be free on
Friday
d) so that they are free on Friday

a) we went to the theatre
b) we are going to the theatre

7 She looked at the boy

c) we will go to the theatre
d) we should go to the theatre

a) as though she hates him
b) as though she will hate him

8 He insists that

¢) as though she should hate him
d) as though she hated him

a) they were mending his car
iImmediately

¢) they mend his car immediately
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b) they are mending his car d) they will mend his car

immediately immediately

9 | would pass that exam :

a) if I know all the questions c) if I will know all the questions

b) if I knew all the questions d) if I have known all the
guestions

10 I wish :

a) | can drive a car ¢) | could drive a car

b) I will be able to drive a car d) I shall be able to drive a car

Exercise 2. Express the same using the Subjunctive Mood. Use the
Infinitive or should.

Model: ‘Let’s invent a new kind of mobile phone,’ he said to us. — He
proposed that we should invent a new kind of mobile phone.

1 Students must work hard at the Academy.

It is important

2 “Let’s enter this University,” my friend said to me.
My friend suggested

3 This flight must be booked in advance.
It is essential

4 “If I were you, I wouldn’t drop the college.” she said to him.
She insisted

5 The athlete must improve his speed before the competition.
It’s necessary

Exercise 3. Choose the correct form given in brackets.

1 They wish they (hadn t seen/wouldn t see) this horrible scene again.
2 | wish | (could/will be able to) give up smoking.

3 She often wishes things (have been/were) different.

4 1 wish you (aren t/ were) ill.

5 1 wished | (hadn t wasted/will not waste) my time on holidays.
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6 He wishes he (hadn t moved/doesn t move) to this place.

Exercise 4. Choose the correct Conditional verb forms.

1 If he weren’t such an outstanding engineer, he (wouldnt work/
doesn t) work at that factory.

2 My brother wouldn’t have missed so many lessons if he (didn t hurt
his leg/ hadn 't hurt his leg).

3 If she (had worked/worked) hard, she would have achieved great
progress.

4 1f you pass your exams, your mum (would be/will be) happy.

5 I would have a lot of flowers if | (will be/were) a famous singer.

6 He (would have written/had written) his essay long ago if you hadn’t
disturbed him.

7 If he (passes/ will pass) his exams, he will get a scholarship.

8 If she (isn t/werent) so absent-minded, she would be much a better
student.

9 1 (would translate/will translate) this text if you give me your
dictionary.

10 If only you had let me know, | (will go/would have gone) there
immediately.

Exercise 5. Express the same in English using three Types of
Conditionals.
1 Sxmio 6 s OyB HAa TBOEMY MICIIl, 51 O TyIU HE XOJIUB.

2 Mopo3uBo 0 HE pO3TaHyJI0, SIKIIO O TH MOKJIaB HOTO0 Y XOJIOIUIIbHUK.

3 ko 3aBTpa Oyze 1011, HAIIly TPy CKACYIOTh.

4 T HIKOJIM HE 3aKIHYHUII 11€ 3aBAaHHS, SKIO OyAeI TaKk MapHyBaTH
CBii1 yac.

5 Skmio 6 MeHe He OyJ10 Ha JIeKIii, 1 O He 3p03yMIB 1€ BaXkKKe
IIPaBUJIO.

6 Sxmro 6 BiH He )XUB y XapKOBi, MU TaK 4acTO HE 3yCTPIYaINCh.
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7 51 6 3Mir KynuTu co01 HOBI peul, KO0 O B MEHE OyJy T'POIIIi.

Exercise 6. Complete the sentences with Compound Conjunctions
from the box.

as well as, in order that, as soon as, so that, as long as
1 I’1ll ring you [ return from the Academy.

2 | can speak English other foreign languages.
3 He will help you we need him.

4 You need to save money he can buy a car.

5 My doctor asked me not to drink anything | got ready
for the operation.

Task 7. Choose the correct answer.

1 The message to have important information.

a) had C) wrote

b) turned out d) found

2 It didn’t look she was going to her promise.

a) fulfil c) belong

b) decide d) turn out

3 Our railroads should be to meet the European

requirements.

a) perfected C) convenient

b) influence d) brake

4 of rolling stock will lead to passenger comfort.

a) Desire ¢) Renovation

b) Agreement d) Outdated

5 Global transport corridors have been designed for transit

a) boundaries c) hauls

b) share d) axis

6 Advanced technologies will improve quality, comfort and
in the trains.

a) leap ¢) disadvantages

b) harm d) cost-effectiveness

7 It’s necessary to create services in urban areas.

a) eventually c) seamless
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b) science fiction d) enable

8 The future to the railways.

a) belongs c) reaches

b) recycles d) converts

9 Maglev was considered to be a

a) rumble c) search

b) loan d) science fiction

Task 8. Answer the following questions to the text ‘The Future of
Rail Transportation’.

1 What is the priority task in the competition with air and road
transport?

2 What does the strategic development at the railway include?

3 How does Maglev train differ from an ordinary train?

4 What is international transport corridors designed for?

5 Give a long form for the expression TEN-T.

6 Can differences in track gauges be overcome through gauge-
adjustable wheelsets pioneered in Spain?

7 What is the number of the Corridor the Ukrainian section of Lviv to
Kiev belongs to?

8 Do you agree with the statement “Future belongs to the railways”?

9 What is global transport corridors designed for?
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